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1 Neither Jim nor Carol has a car.
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2 I neither like or dislike Mike.

3  We can leave either today or tomorrow.

4 The man’s name might either be Richard or Robert.

5 Margaret both writes novels and translate novels.

6 It was both a very boring and long movie.

5 If Amanda went to bed early, she wouldn’t be tired in the morning.

6 If Jonathan had a watch, he wouldn’t be late.
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...watching TV or playing...

B: ..sheis neither...
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2 Student A: What does Albert repair?

Student B: He repairs both bicycles and cars.

3 Student A: How does Jim drive?
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Student B: He drives both fast and carelessly.

4 Student A: What animals does Emma keep?

Student B: She keeps both parrots and fish.

5 Student A: What languages does Kate speak?

Student B: She speak both Persian and English.

6 Student A: How does Bob feel?

Student B: He is both tired and thirsty.



